## Exhibit A

## **EXHIBIT A**

		T		1
Name of Professional Person	Position of the Applicant, Area of Expertise, Date of Initial Employment, Year of Obtaining License to Practice	Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation
Bartner, Douglas P.	Partner Since 1991 BR 1982 1983	\$700 \$725	156.1 116.2	\$109,270.00 \$84,245.00
Fine, Howard A.	Partner Since 2002 BF 2000 1992	\$650	2.0	\$1,300.00
Hirschberg, William E.	Partner Since 1981 BF 1976 1977	\$700	1.30	\$910.00
Lonczak, Don J.	Partner Since 2000 TX 1997 1992	\$625 \$650	1.7 2.9	\$1,062.50 \$1,885.00
Roll III, William J.	Partner Since 1988 LT 1980 1980	\$700	2.3	\$1,610.00
Chung, Jikja	Associate BR 2002 2003	\$325	1.2	\$390.00
Gallagher, Amanda	Associate LT 1994 1995	\$475	11.2	\$5,320.00
Linker, Jonathan F.	Associate BR 2001 1998	\$400 \$475	15.8 136.4	\$6,320.00 \$64,790.00
Mao, Xueli	Associate BF 2000 2001	\$350	1.2	\$420.00
Musante, Michael S.	Associate BR 2002 2003	\$200 \$325	43.1 5.8	\$8,620.00 \$1,885.00
Nugent, Richard	Associate TX 2002 1996	\$450 \$475	8.2 11.8	\$3,690.00 \$5,605.00
Spevak, Stacey	Associate BR 1999 1998	\$450 \$475	289.6 104.6	\$130,320.00 \$49,685.00
Angert, Anna	Legal Assistant BR 2001	\$155 \$160	14.5 19.1	\$2,247.50 \$3,056.00
Boutchatski, Vassili	Legal Assistant LT 1999	\$155 \$160	130.0 18.5	\$20,150.00 \$2,960.00
Ellis, William C.	On Call Legal Assistant BR 2000	\$155	4.2	\$651.00

Ghani, Tanya	Legal Assistant LT 2003	\$145	5.0	\$725.00
Lee, Kyung Moon	Legal Assistant LT 2000	\$120	12.4	\$1,488.00
Tillett, Margaret	Law Clerk 1993	\$150	1.8	\$270.00
Guzman, Jessica	Litigation Client Services	\$145	0.2	\$29.00
Grand Total: \$508,90	4.00			
Total Hours: 1,117.10	)			

BF - Bank Finance

BR - Bankruptcy and Reorganization

LT - Litigation

MA - Mergers and Acquisitions

PR - Property TX - Tax

SD - Securitization & Derivatives

<sup>\*</sup>All attorneys are licensed in New York State unless otherwise indicated.

## **EXPENSE SUMMARY**

Expense Category	Service Provider (If Applicable)	Total Expenses
Conference Room Dining		\$769.94
Inhouse Photocopies		\$4858.70
Facsimile Transmission (\$1.25/page)		\$416.25
Messengers		\$33.00
Overtime Meals		\$190.97
Offsite Client Meals		\$106.74
Other Information Services	PACER	\$896.00
Other Outside Services	ALACRA, Inc.	\$167.79
Overtime Taxis		\$45.00
Postage and Courier		\$23.36
Radio Taxis	Dialcar Elite Car Service	\$293.35
Telephone Charges		\$5,469.51
Velobinding		\$231.00
TOTAL:		\$13,501.61